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facl fac2 fac3
A 1057784 -04314 | -1.2147
B | -04867] -0.3437] -0.7593
C |-0.0377]-0.0799 | -0.0276
l DIGICLIP
A B C A B c
A 1000 | 2161 | 2.383 A 100 781 65.3
B 2161 | 1000 | 1.898 B 781 100 89.9
C 2383 | 1898 | 1.000 c 65.3 899 100
5732 | 6636 | 7517 2434 268 255.2

3.2

1
2004 ( -3
-3
i f
S=In gh e
(3)
z, = am, + fl,
cf, =8InY. Dy +7In D Gy —£In(n?)
k' k'
z, k I, k
D, k
Gy k
n 250 Bia,y.d.n
2
I I [
6476 3618 5028 29971 5107 3035
0293 1695 0233 14791 0203 1.408
-0091 -0712: -0186  -1556 -0.203 -1620
229254 4294 229.257 3883 229.257 3883
300510 4290 381645 4515 | 369590 4.447
180452 1989 i 225.724 2879 224307 2449
405921  7.635 322.609 5062 | 328396 5138
0196 0508} 0552 16781  0.187 0.001
-169.774 1638 -103.652  -1091 -89.659 -0074
o 0.029 0.001
v -0.392 -0.001
3 -0.018 0.000
n -0.012 0.000
= -0.046 0.000
0.788 0.778 0.778
101 79 79
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